W N* =100-[L* + 0,5C*]
N* Nerezza

— W?* Bianchezza
W+ = L*- 0,5C*
5Q —>

S *
cromaC
4-003130-L0  4-003130-F0 MI530-30, B2_19_:




W N* =100-[L* + 0,5C*]
N* Nerezza

N

N* =0

w* =0
—
— W?* Bianchezza
Ik = * — *
o 50 W+ =L*-0,5C

} —>
croma C*
4-013130-L0 4-013130-F0

MI530-31, B2_19_



W N*=100-[L* + 0,5C*]
N* Nerezza

— W?* Bianchezza
W+ = L*- 0,5C*
5Q —>

}
croma C*
4-103130-L0 4-103130-F0 MI530-32, B2_19_:




W N*=100-[L* + 0,5C*]
N* Nerezza

N

N* =0

w* =0
—
— W?* Bianchezza
* = * — *
o 50 W+ =L*-0,5C

} —>
croma C*
4-113130-L0 4-113130-F0

MI530-33, B2_19_:



